QP Code : 10092

(REVISED COURSE-OLD PATTERN) ‘
(3 Hours) [ Total Marks : 100

N.B: (1) Question No.1 and 2 are compulsory and carry 20 Marks and 16 Marks
respectively.
(2) Attempt any four questions from the rest ,carrying 16 marks each
(3) Working notes should form part of your answer.
(4) Proper Presentation and neatness is essential.
(5) Use of simple calculator is allowed.

1. Followmg is the Balance Sheet of M/s Parag Ltd. as on 31% March 2014. 20
Balance Sheet as on 31* ’VIarch 2914
Liabilities - ‘ Amount ¥ | Assets Amount ¥
Equity Share Capital 2,00,000 | Machinery 5,92,000
12% Preference Share Capital | 3,60,000 | Investments 2,24,000
General Reserve 1,40,000 | Stock - 2,02,000
16% Debentures A 2,40,000 | Bills Receivable ' 40,000
Trade payables 2,44,000 | TradeReceivables 98,000
Bank Overdraft ! - 40,000 | CashandBank ' 76,000
Prbvision for fncome Tax 36,000 | Profitand Loss Account 28,000
| 12,60,000 ' 12,560,000

Sales for the year- ¥ 14,00,000; Gross Profit Rate- 25% and Opening Stock- ¥ 2,18,600.
Profit Before Tax for the year ending 31 March, 2014 is ¥ 4,20,000.
(1) You are required to compute the followmg ratios :—
(i) ~Current Ratio
@ii) Stock Turnover Ratio
(iii) Proprietory Ratio
(iv) Capital Gearing Ratio
(v) DebtEquity Ratio.
~ (vi) Return on Capital Employed.
(2) Comment on Current Ratio in brief
Note : Vertical Balance Sheet not expected.
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2. (a) FillintheBlanks:—

As per MIS, Strategic Decisions are taken by level Managers.

Public Deposits are Loans. '

Operating Profit = Gross Profit less

Standard Current Ratio is: .

Margin of Safety is . to Net Current Assets to get Working

Capital. |

Redemption of Preference Shares is considered as Cash Flow from
Activity. |

- In Common Size Balance Sheet is considered equal to 100 %.

Payback Period is the time required to recover _ Investment.

(b) State whether the following statements are True or False :—

HT-Con. : 721-15.

A project with shorter payback period should be accepted.

MIS is a Computer based Information System.

Unclaimed Dividend is a Fictitious Asset. v

Stock of Finished Goods should be valued at Cost of Production.

Sale of Machinery is a Cash Inflow from Financing Activities.

Liquid Ratio indicates the company's ability to meet its Long Term
Liabilities.

Profit on Sale of Machinery is an Operating Income

Working Capital is excess of Current Assets over Current Liabilities.
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3. The following balances appear in the books of M/s. Rajendar & Sons. as on 31¥March, 16 .

3
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2014. You are required to prepare a Vertical Balance Sheet for financial analysis.

Particulars Amount
Provision for Income Tax 8,000
Advance Tax 9,000
Marketable Investments 5,000
Profit & Loss Account - Credit Balance 8,000
Equity Share Capital 40,000
Bank Overdraft 9,000
‘Loan from bank 17,500
Machinery 26,000
Preliminary expenses 1,500
Sundry Debtors 9,000
General Reserve 7,000
| Sundry Creditors 4,000
Stock , 15,000
Building at Cost less Depreciation 20,000
Cash and Bank 8,000

4. Siddhi Industries Ltd, has an investment proposal of ¥ 30 lakhs.
The expected cash inflows and present value factors are :—

Year Inflow | P.Vfactor@ 10%
I 5,25,000 0.909
2 5,25,000 0.826,
3 6,00,000 0.751
4 6,00,000 0.683
5 6,75,000 0.621
6 6,75,000. 0.564
7 7,50,000 0.513
8 7,50,000 0.467
9 6,00,000 0.424
10 4,50,000 0.386
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You are required to ascertain :—
(a). Payback Period
(b) NetPresent Value @10%
(c) Profitability Index @ 10%.

5. 'Complefe the following Trend Income Stafement of M/s Joshi Ltd. for the year ended 16

- 31t March.
- Amount : . Trend %
Particulars - 12011 | 2012 | 2013 | 2014 | 2011 |2012 | 2013 | 2014
Net Sales ? | 4800 ? 14000 100 | 120 80 100
less: Cost of ? ? 12560 | 3000 100 | 110 100 ?
Goods Sold '
= Gross Profit 1440 ?1 640 ? 100 ?7 | 44.44 ?
Add: Non- Operating] 300 180 | 270 ? 100 60 9 | 50
Income \
less: Non-Operating | 20 ? 16 32 100 | 40 ? 160
Expenses
‘=‘P1'Qf1t before 1720 |2156 | 894 | 1118 | 100 ? ? 65
Interest & Tax
less: Interest ? 80 | 240 | 120 100 ? ] 600 ?
=Profit Before Tax |1680 2| 654 2 | 100] 2 ? [59.40
less : Tax | 840 ? ? { 499 100 ? | 38.93 ?
=ProfitAftertax | 840 | 1038 | 327 ? [ 100 27| 7 |5940].
less : Dividend - 20 ? 18 6 100 ? 90 . 30
=Net Earnings 820 | 820 | 309 | 493 | 100 | 100 ? ?
[TURN OVER
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6. The Balance Sheets of M/s Tulip Ltd are as follows :— 16
Balance Sheets
Liabilities 2013|2014 | Assets 2013 2014
Equity Share Capital 3,00,000( 4,00,000 | Goodwill 1,15,000{ 90,000
8% Redeemable Preference{ 1,50,000| 1,00,000 { Land & Building| 2,00,000] 1,70,000
Share Capital Machinery 80,0001 2,00,000
General Reserve 40,000{ 70,000 | Stock 77,000] 1,09,000
Profit & Loss 30,000/ 48,000 | Sundry Debtors | 1,60,000(2,00,000
Sundry Creditors 55,000{ 83,000 | BillsReceivable| 20,000{ 30,000
Bills Payable _ 20,000 16,000 | CashatBank 10,000 8,000
Provision for Income Tax 40,000/ 50,000 | CashinHand 15,000] 10,000
Proposed Dividend 42,0001 50,000
6,77,000| 8,17,000 6,77,000| 8,17,000
Additional information :—
‘ 1. Depreciation of ¥ 10,000 and ¥ 20,000 have been charged on Machinery and
Land & Building respectively.
2. AnInterim Dividend of 20,000 has been paid in 2014.
3. ¥ 35,000 Income Tax was paid during the year 2014.
You are required to prepare Cash Flow Statement for the year ended 2014 in accordancc
with AS-3, using Indirect Method.
7. Following is the Revenue Statement of M/s Sushil Ltd. :— | 16
Trading, Profit and Loss Account for the year ending 31* March, 2014.
Particulars Amount| Particulars Amount
To Opening Stock 54,300| By Sales 5,40,000
To Purchases 3,27,150| By Closing Stock 84,000
To Carriage Inward 8,5 50| By Interestreceived 5,400
To Office Expenses 90,000
To Sales Expenses 27,000
To Loss on Sale of Fixed Assets 2,400
To Net Profit c¢/d 1,20,000
6,29,400 6,29,400
- 721-15. [TURNOVER
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Calculate the following ratios :—
(i) Selling Expenses Ratio
(ii) - Stock Turnover Ratio
(iii) OperatingRatio -
(iv) Net Profit Before Tax Ratio
(v) Gross Profit Ratio.
Give your comments on Gross Profit Ratio.
Note : Vertical Revenue Statement need not be prepared.

8. You are required to prepare a statement showing the working capital required to finance
the level of activity of 15,000 units per year from the following information :—
1. Raw-materials are in stock on an average for 2 months.

Materials are in process on an average for half a month.
Finished Goods are in stock on an average for one month.
Credit allowed by the suppliers is 3 months of purchase of raw-materials and
credit allowed to customers is 5 months. '
Lag in payment of Wages and Overheads is one month.
Provide a margin of safety at 10%.
Debtors are valued at selling price.
Activities are spread evenly throughout the year :—

Cost per unit :—

Raw- material - . 16

Wages - .08

Overheads - . 12

Profit is 25% on Cost.

Rl

®© N0

9. Write short notes on any four of the following :—
(a) Role of Management Information System (MLS) in business.
(b) Payback Period.
(c) Characteristics of Management Information System (MIS).
(d) Comparative Financial Statements.
(e) Creditors Turnover Ratio.
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